Math Numbers Operations and Algebra 4_6
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Which is in the tens place?

5
.8
.1
3.
6x1=6
6 x 10 = 60
6x100=
A. 6,000
B. 160
C. 600
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How many pencils in all?

A. 36
B. 64
C. 49

840

The 0 is in what place?

A. 1's
B. 10's
C. 100's



54
X 6
8(20 + 11) =
What do you do first?
A. (8 +20)+ (11 + 20) A.6x5
B. (8 x 11) + (8 x 20) B. 6 x4
C. (8 -20)+ (11 -20) C.5x4
7 8.
327
X 2

40 x 3 =

What do you do first?

A 2x2 A 3x4)+3
B.2x7 B. (4+3)+10
C.2x32 C. (4x10)x 3



01 O 071 071 017

There are 5 buses.

Afrog jumps 4 squares at a time. Each bus has 18 students.

How many squares will he move in 5 )
How many students in all?

jumps?
A. 20 A. 80
B. 15 B. 50
C. 25 C. 90
1. 12.
X 4
Pete got 5 pounds of peanuts for $2.04 4 16
per pound. 2 8
About how much did he pay? ? 36
?7=_
A. $10 A. 6
B. $5 B. 9

C. $12 C. 18



13.

(20 x 8 x 5) =

A. (8 x 20 x 5)
B. (20 + 5 + 8)
C. (5% 20 +8)

15.

Liz reads 25 pages a day.

How many pages can she read in 30
days?

A. 750
B. 705
C. 550

14.

692

A. 4412
B. 4152
C. 698

16.

A. 66
B. 305
C. 116
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